On Harmonic Addition Theorem

Nay Oo and Woon-Seng Gan

Abstract—When any arbitrary number of sinusoids with same frequency but different amplitudes and phases are added together, the resultant sinusoid has the same frequency. We derive a closed form expression and provide two different approaches to prove the theorem.

Index Terms—Harmonic addition theorem, phasor addition theorem, phasor addition rule

I. INTRODUCTION

Addition of sinusoids with the same frequency but arbitrary amplitudes and phases is the fundamental but important operation in acoustics, music, communication, and audio signal processing applications. Let us define

$$\begin{cases} x_s(t) = \sum_{i=1}^{L} \alpha_i \sin(\omega_0 t + \varphi_i), \\ x_c(t) = \sum_{i=1}^{L} \alpha_i \cos(\omega_0 t + \varphi_i), \end{cases}$$
(1)

where L denotes the total number of tonal components that are to be added, ω_0 is the angular frequency which is common to all the tonal components, and α_i , φ_i are amplitudes and phases, respectively. Notice that ω_0 is the same for all the sinuoids. Let the sinusoid and cosinusoid be respectively denoted as $x_s(t)$ and $x_c(t)$. Thus (1) can be written as

$$\begin{cases} x_s(t) = \beta \sin(\omega_0 t + \psi), \\ x_c(t) = \beta \cos(\omega_0 t + \psi), \end{cases}$$
(2)

where β is the amplitude and ψ is the phase. The mathematical problem of interest here is that given(1), β and ψ are to be formulated in closed-form formulae, parameterized by L, α_i , and φ_i for i = 1, 2, ..., L.

In signal processing literature, (2) is obtained from (1) using *Phasor Addition Rule* or *Phasor Addition Theorem* [1]. This is in fact equivalent to *Harmonic Addition Theorem* [2] in mathematics and here we prove the theorem from two different approaches and show this link. From that, we observe some interesting patterns in symbolic expansions; by using them, we formularize the closed-form expressions for β and ψ .

Manuscript received May 4, 2012; revised June 5, 2012.

II. HARMONIC ADDITION THEOREM

The Phasor Addition Theorem or Rule is equivalent to Harmonic Addition Theorem, and the formulae in the theorem are derived in this paper from different perspectives.

Theorem: Given the signal function $r(t) = \sum_{k=1}^{L} \alpha_{k} \sin(\alpha_{k} t + \alpha_{k})$

$$x_{s}(t) = \sum_{i=1}^{L} \alpha_{i} \sin(\omega_{0}t + \varphi_{i}) \qquad \text{or}$$

$$\begin{aligned} x_c(t) &= \sum_{i=1}^{\infty} \alpha_i \cos(\omega_0 t + \varphi_i), \text{ it is possible to find } \beta \text{ and} \\ \psi \quad \text{so} \quad \text{that} \quad x_s(t) &= \beta \sin(\omega_0 t + \psi) \quad \text{or} \end{aligned}$$

$$x_c(t) = \beta \cos(\omega_0 t + \psi)$$
 where

$$\begin{cases} \beta = \sqrt{\sum_{i=1}^{L} \alpha_i^2 + 2\sum_{i=1}^{L-1} \sum_{j=i+1}^{L} \alpha_i \alpha_j \cos(\varphi_i - \varphi_j)}, \\ \psi = \arg\left(\frac{\sum_{i=1}^{L} \alpha_i \sin \varphi_i}{\sum_{i=1}^{2} \alpha_i \cos \varphi_i}\right), -\pi < \psi \le \pi. \end{cases}$$
(3)

A. Sub-Problem

To prove the theorem and to formulate (3), we define a sub-problem to obtain a formula for the addition of complex numbers in polar form without being necessary to convert them into rectangular form at all. This sub-problem is defined as follows. Let $x_e(t)$ be denoted as a complex exponential signal function that is given by

$$x_e(t) = \sum_{i=1}^{L} \alpha_i e^{j\varphi_i} = \sum_{i=1}^{L} \alpha_i \angle \varphi_i$$
(4)

where α_i is the amplitude and φ_i is the phase of the *i*th complex number in polar form or in phasor notation. *L* is the total number of complex numbers to add, the objective is to convert (4) into

$$x_e(t) = \beta e^{j\psi} = \beta \angle \psi \tag{5}$$

where β is the amplitude and ψ is the phase. In other words, the problem is to formulate β and ψ of (5) in terms of α_i and φ_i for i = 1, 2, ..., L of (4).

To solve this sub-problem, starting from L = 2, for $x_e(t) = \sum_{i=1}^{L} \alpha_i \angle \varphi_i = \beta \angle \psi$,

For the computation of ψ , *atan2* function [3] can be used to exactly locate the angle in any of the four quadrants in the complex plane. Notice that the ordinary *atan* function [3] range is, however, $-\pi/2 < \psi \le \pi/2$ in contrast to the *atan2* function range of $-\pi < \psi \le \pi$. To formulate the formulae of β and ψ , as stated in the sub-problem statement, we expand γ_L in (6) for L = 2, 3, 4, as shown in Table I, and

Nay Oo is with the Department of Hearing, Speech and Audio Technology (HSA), Fraunhofer Institute for Digital Media Technology (IDMT), Oldenburg, Germany (e-mail: nay.oo@idmt.fraunhofer.de)

Woon-Seng Gan is with School of Electrical and Electronic Engineering, Nanyang Technological University, Singapore.

observe the following symbolic expansion pattern

$$\beta = \sqrt{(\alpha_1 \cos \varphi_1 + \alpha_2 \cos \varphi_2)^2 + (\alpha_1 \sin \varphi_1 + \alpha_2 \sin \varphi_2)^2} = \sqrt{\gamma_2} = \sqrt{\alpha_1^2 + \alpha_2^2 + 2\alpha_1 \alpha_2 \cos(\varphi_1 - \varphi_2)},$$

$$\psi = \operatorname{atan2}\left(\sum_{i=1}^2 \alpha_i \sin \varphi_i, \sum_{i=1}^2 \alpha_i \cos \varphi_i\right), \text{ for } -\pi < \psi \le \pi.$$
(6)

From Table I, we define

$$\gamma_L = \left(\sum_{i=1}^L \alpha_i \cos \varphi_i\right)^2 + \left(\sum_{i=1}^L \alpha_i \sin \varphi_i\right)^2 = \xi_L + 2\lambda_L, \quad (7)$$

where

$$\xi_L = \sum_{i=1}^L \alpha_i^2, \qquad (8)$$

$$\lambda_L = \sum_{i=1}^{L-1} \sum_{j=i+1}^{L} \alpha_i \alpha_j \cos(\varphi_i - \varphi_j).$$
(9)

Thus, from (7), (8), and (9), β and ψ in (5) can now be formulated as

$$\beta = \sqrt{\gamma_L} = \sqrt{\sum_{i=1}^{L} \alpha_i^2 + 2\sum_{i=1}^{L-1} \sum_{j=i+1}^{L} \alpha_i \alpha_j \cos(\varphi_i - \varphi_j)},$$

$$\psi = \operatorname{atan2}\left(\sum_{i=1}^{L} \alpha_i \sin \varphi_i, \sum_{i=1}^{L} \alpha_i \cos \varphi_i\right), -\pi < \psi \le \pi.$$

(10)

Indices, $\{i, j\}$, of (9) can also be further observed as a *triangular number expansion pattern* as shown in Table 2. The total number of components and the total number of summations in (9) can be formulated as T(n) and T(n)-1, respectively where T(n) is the *triangular number* [4] and n = L - 1, i.e.,

$$T(n) = \sum_{i=1}^{n} i = \frac{n(n+1)}{2} = \binom{n+1}{2} = {}_{L}C_{2}.$$
 (11)

For the both cases of positive and negative φ_i 's in (5), we define

$$\begin{cases} x_{e^{-}}(t) = \sum_{i=1}^{L} \alpha_{i} e^{-j\varphi_{i}} = \sum_{i=1}^{L} \alpha_{i} \angle -\varphi_{i} = \beta e^{-j\psi}, \\ x_{e^{+}}(t) = \sum_{i=1}^{L} \alpha_{i} e^{j\varphi_{i}} = \sum_{i=1}^{L} \alpha_{i} \angle \varphi_{i} = \beta e^{j\psi}. \end{cases}$$
(12)

with β and ψ as formulated in (6).

TABLE II: INDICES
$$\{i, j\}$$
 OF (9) FOR $L = 2, 3, 4$, AND $m \ge 2$

C_{2}
L = 2
1
3
6
$_{m}C_{2}$

B. Proof I

In this sub-section, the first proof of the harmonic

addition theorem is presented. Using (12) and Euler's

formula,
$$x_s(t) = \sum_{i=1}^{L} \alpha_i \sin(\omega_0 t + \varphi_i)$$

$$=\frac{1}{2j}\left[e^{j\omega_{0}t}\sum_{\substack{i=1\\x_{e^{+}}(t)}}^{L}\alpha_{i}e^{j\varphi_{i}}-e^{-j\omega_{0}t}\sum_{\substack{i=1\\x_{e^{-}}(t)}}^{L}\alpha_{i}e^{-j\varphi_{i}}\right]=\frac{1}{2j}\left[e^{j\omega_{0}t}\beta e^{j\psi}-e^{-j\omega_{0}t}\beta e^{-j\psi}\sum_{x_{e^{-}}(t)}^{L}\beta \sin(\omega_{0}t+\psi),\right]$$

and $x_{c}(t) = \sum_{i=1}^{L} \alpha_{i} \cos(\omega_{0}t + \varphi_{i})$ $= \frac{1}{2} \left[e^{j\omega_{0}t} \sum_{\substack{i=1 \ x_{+}(t)}}^{L} \alpha_{i} e^{j\varphi_{i}} + e^{-j\omega_{0}t} \sum_{\substack{i=1 \ x_{-}(t)}}^{L} \alpha_{i} e^{-j\varphi_{i}} \right] = \frac{1}{2} \left[e^{j\omega_{0}t} \underbrace{\beta e^{j\psi}}_{x_{e^{+}}(t)} + e^{-j\omega_{0}t} \underbrace{\beta e^{-j\psi}}_{x_{e^{-}}(t)} \right] = \beta \cos(\omega_{0}t + \psi).$

C. Proof II

addition theorem is presented. Using (12), and Fourier

In this sub-section, the second proof of the harmonic transform denoted by the notation \Leftrightarrow ,

$$\begin{aligned} x_{s}(t) &= \sum_{i=1}^{L} \alpha_{i} \sin(\omega_{0}t + \varphi_{i}) \stackrel{\mathbb{F}}{\Leftrightarrow} X_{s}(\omega) = \pi \delta(\omega - \omega_{0}) e^{-j\pi/2} \sum_{\substack{i=1 \\ x_{e^{+}}(t)}}^{L} \alpha_{i} e^{j\varphi_{i}} + \pi \delta(\omega + \omega_{0}) e^{j\pi/2} \sum_{\substack{i=1 \\ x_{e^{-}}(t)}}^{L} \alpha_{i} e^{-j\varphi_{i}} \\ &= \pi \delta(\omega - \omega_{0}) e^{-j\pi/2} \underbrace{\beta e^{j\psi}}_{x_{e^{+}}(t)} + \pi \delta(\omega + \omega_{0}) e^{j\pi/2} \underbrace{\beta e^{-j\psi}}_{x_{e^{-}}(t)} \\ &= \beta \Big[\pi \delta(\omega - \omega_{0}) e^{j(-\pi/2 + \psi)} + \pi \delta(\omega + \omega_{0}) e^{j(\pi/2 - \psi)} \Big] \\ & \Leftrightarrow x_{e}(t) = \beta \sin(\omega_{0}t + \psi). \end{aligned}$$

Similarly,

$$\begin{split} x_{c}(t) &= \sum_{i=1}^{L} \alpha_{i} \cos(\omega_{0}t + \varphi_{i}) \stackrel{\mathbb{F}}{\Leftrightarrow} X_{c}(\omega) = \pi \delta(\omega - \omega_{0}) \underbrace{\sum_{i=1}^{L} \alpha_{i} e^{j\varphi_{i}}}_{x_{e^{+}}(t)} + \pi \delta(\omega + \omega_{0}) \underbrace{\sum_{i=1}^{L} \alpha_{i} e^{-j\varphi_{i}}}_{x_{e^{-}}(t)} \\ &= \pi \delta(\omega - \omega_{0}) \underbrace{\beta e^{j\psi}}_{x_{e^{+}}(t)} + \pi \delta(\omega + \omega_{0}) \underbrace{\beta e^{-j\psi}}_{x_{e^{-}}(t)} \\ &= \beta \Big[\pi \delta(\omega - \omega_{0}) e^{j\psi} + \pi \delta(\omega + \omega_{0}) e^{-j\psi} \Big] \end{split}$$

$$\Leftrightarrow x_c(t) = \beta \cos(\omega_0 t + \psi)$$

In the above proof, $\delta(.)$ is the Dirac delta function. Hence, the harmonic addition theorem has been proved.

III. CONCLUSIONS

In conclusion, the harmonic addition theorem is proved from two different approaches, and closed-form formula to calculate the exact amplitude, and phase of the resultant tone are derived from the first principles. A pattern of symbolic expansions is observed, and noted the relation to the trigonometric number, which in turn shows the computational load by predicting the number of summations needed to perform as derived in (11). Based on this work, the resultant formulae described in (3) can be easily converted into an algorithm to compute the exact amplitudes, and phases of the resultant tone (sinusoids) when many tones with the same frequency but arbitrary amplitudes, and phases are linearly added together. Moreover, the mathematical results in [2] do not include the closed-form formulation of the harmonic addition theorem. In this paper, the exact closed-form formula in (3) (see (27) and (28) in [2]) is obtained with two separate proofs. In fact, this closedformed formula has been applied to compute the exact harmonic output [5] and intermodulation distortion output [6] (in terms of amplitude, frequencies and phase) from polynomial-approximated static nonlinearities in the area of audio engineering.

REFERENCES

- [1] J. H. McClellan, R. W. Schafer, and M. A. Yoder, *Signal Processing First*. Prentice Hall, 2003.
- [2] E. W. Weisstein, Harmonic Addition Theorem, from: MathWorld—A Wolfram web resource (2012). [Online]. Available: http://mathworld.wolfram.com/HarmonicAdditionTheorem.html
- [3] S. Moritsugu and M. Matsumoto, "A note on the numerical evaluation of arctangent functions," *ACM SIGSAM Bulletin*, vol. 23, no. 3, pp. 8-12, 1989.
- [4] J. H. Conway and R. K. Guy, *The Book of Numbers*. Springer-Verlag, New York, 1996.
- [5] N. Oo and W. S. Gan, "An Exact Harmonic Computing Technique for Polynomial Nonlinearities," in *Proceedings of the 132nd Audio Engineering Society Convention, Engineering Brief (e-Brief)*, pp. 26-29, Budapest, Hungary, 2012.
- [6] N. Oo, Theoretical Analysis and Perceptual Evaluations on Nonlinear Devices in Virtual Bass System, Ph.D. Thesis, Nanyang Technological University (NTU), Singapore, 2012.